
qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1 a+u'/sf] kf&f ljt/)f  -blnt_ 1 25000.00

2 h]i& gful/s ;Ddfg sfo{qmd 1 25000.00

3
ckf~ ePsf JolQmx?sf nflu b}lgs lqmofsnfk ;+rfngdf 

;xof]uL ;fdu|L ljt/)f
1 25000.00

4 lwd] afhf vl/b tyf k|lzIf)f -hghflt_ 1 50000.00

5 tfdfª ;d'bfosf] ;+:s[lt ;+/If)f-hghflt_ 1 50000.00

6 du/ ;d'bfosf] ;+:s[lt ;+/If_f-hghflt_ 1 50000.00

hDdf /sd 225000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1 cfo cfh{g tyf Ifdtf ljsf; sfo{qmd -blnt_  2 50000.00

2 h]i& gful/s ;Ddfg sfo{qmd   2 25000.00

3 ;fdu|L ljt/)f tyf Ifdtf ljsf; sfo{qmd    2 25000.00

4 hghflt ;+:s[lt ;+/If)f tyf kj{ d]nf Joj:yfkg  2 125000.00

hDdf /sd 225000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1 h]i& gful/s ;Ddfg sfo{qmd 3 50000.00

2 ckf~tf ePsf JolQmsf] nflu Gofgf] n'uf sfo{qmd 3 50000.00

3 o'jf :j/f]huf/ tflnd sfo{qmd 3 50000.00

4 v'Nnf lb;f d'Qm If]q -blnt nlIft sfo{qmd_ 3 50000.00

5 h]i& gful/sx?sf nflu ehg ;fdu|L vl/b 3 25000.00

hDdf /sd 225000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1 u)f]z hfqf ;+rfng tyf Joj:yfkg 4 50000.00

2 u)f]z / e}/a dlGb/ ;+/If)f 4 50000.00

3 j*f g+= 4 sf h]i& gful/s ;Ddfg sfo{qmd 4 50000.00

4 o'jf :j/f]huf/ tflnd 4 50000.00

5 blIf)f uf]bfj/L ehg ;fdu|L vl/b 4 25000.00

cg';"rL 2 s

blIf)fsfnL gu/kflnsfsf] j*f:t/Lo of]hgfaf^ k|fKt eO{ cfPsf of]hgfx?sf]

ljj/)f tyf ljlgof]lht /sd

nlIft ju{ cflbjf;L÷hghflt, h]i& gful/s, lk%l*Psf ju{, blnt of]hgf tyf sfo{qmd



hDdf /sd 225000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1    
afF;jf/L blnt a:tL klZrd a]N^df hgr]tgf d"ns 

sfo{qmd
5 50000.00

2     o'jf :j/f]huf/ d"ns tflnd 5 75000.00

3    h]i& gful/s ;Ddfg sfo{qmd 5 50000.00

4     hghflt o'jfo'jtL hgr]tgf d"ns tflnd 5 50000.00

hDdf /sd 225000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1
O{vfkf]v/L dlxnf ;d'xnfO{ kmlg{r/ vl/b tyf cfocfh{g 

tflnd tyf sfo{qmd
6 75000.00

2
j*f g+= 6 cGt{utsf blnt tyf hghflt ;d'bfonfO{ 

yfª\sf k]lG^~ tflnd tyf cfocfh{g sfo{qmd ;~rfng
6 100000.00

3 k|rlnt g]kfnL lnkL sIff ;+rfng 6 50000.00

hDdf /sd 225000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1 h]i& gful/sx?nfO{ e|d)f sfo{qmd 7 50000.00

2 k/Dk/fut tyf cfw'lgs afhf vl/b tyf tflnd ;+rfng 7 75000.00

3 gful/s ;r]tgf s]Gb| Ifdtf ljsf; sfo{qmd 7 100000.00

hDdf /sd 225000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1 h]i& gful/s ;Ddfg sfo{qmd 8 25000.00

2
ckf+utf ePsf JolQmx?sf nflu ;xof]u ;fdu|L tyf kf}li^s 

cfxf/ ljt/)f 
8 50000.00

3 ljkGg ju{x?nfO{ ;xof]ufy{ sfo{qmd 8 25000.00

4
wfld{s tyf ;fF:s[lts ;Dkbf ;+/If)f ;ldltåf/f afhfufhf 

vl/b tyf dd{t ;'wf/ ug{ 
8 50000.00

5
j*fsf s[ifsx?sf nflu Ifdtf clea[l$ ug{ s[lif cjnf]sg 

ed|)f  
8 75000.00

hDdf /sd 225000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1    
blIf)fsfnL g=kf j)f g+= 9 sf] gful/s ;r]tgf s]Gb|sf] 

nflu a]df};dL t/sf/L v]lt tyf Knfli^s ^g]nf ljt/*f    
9 50000.00

2    
uf]kfn]Zj/ dlGb/df h]i& gful/sx?sf nflu cTofjZos 

ehg sLt{gsf ;fdu|L vl/b 
9 55000.00



3    /Qme}/a ehg d)*n ejg dd{t ;Def/  9 50000.00

4     ckf+utf ePsf JolQmx?sf nflu kf]if)f tyf nQfsk*f 

vl/b 

9 55000.00

5    
xl/z+s/ hfqf tyf ljleGg hfqf kj{ ;+rfng tyf hfqf 

Joj:yfkg -km+lk g]jfM k'r_ 
9 15000.00

hDdf /sd 225000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1    
h]i& gful/sx?nfO{ ehg sLt{g ug{ eLd axfn a'$ 

dlGb/df ;/;kmfO{ tyf dlGb/ kl/;/ Joj:yfkg   
10 50000.00

2    
ckf+utf ePsf JolQmx?nfO{ / h]i& gful/sx?nfO{ kf]if)f 

sfo{qmd 
10 25000.00

3   
km+lk g]jfM k'råf/f h]i& gful/sx?nfO{ ;Ddfg tyf leGt'gf 

sfo{qmd
10 90000.00

4     P]ltxfl;s sflt{s gfr ;+rfng tyf Joj:yfkg 10 45000.00

5     km'Nrf]s y}nL gfr ;+rfng tyf Joj:yfkg 10 15000.00

hDdf /sd 225000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1    
blnt afnaflnsfsf nflu %fqa[lQ, kf]zfs, vfhf / z}lIfs 

;fdu|L ljt/)f  
11 20000.00

2     h]i& gful/s ;Ddfg sfo{qmd 11 50000.00

3    ckf~ d}qL sfo{qmd 11 20000.00

4     cflbjf;L÷hghflt cfo cfh{g tyf ;Lk d"ns sfo{qmd  11 135000.00

hDdf /sd 225000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1    
h]i& gful/s ;Ddfg sfo{qmd -j*f sfof{no dfkm{t ;+rfng 

ug]{_ 
12 50000.00

2     ckf~ d}qL sfo{qmd 12 25000.00

3    cflbjf;L÷hghfltnfO{ cfo cfh{g ;DaGwL tflnd 12 150000.00

hDdf /sd 225000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1     blnt ;d'bfo ljsf; 13 50000.00

2     /fDr] x'dfg] df]^/af^f] lgdf)f 13 175000.00

hDdf /sd 225000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1     blnt a:tL u'&L ;fdu|L vl/b 14 100000.00

2     cflbjf;L÷hghflt hgr]tgf d"ns sfo{qmd   14 50000.00

3    nfdf^f]n x'Fb} a'l^g hf]*\g] df^/af^f] lgdf{)f 14 75000.00



hDdf /sd 225000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1    
blIf)fsfnL g=kf j*f g+= 15 df /x]sf] gful/s ;r]tgf 

s]Gb|df n]vf Joj:yfkg tyf ;xsf/L cled'vLs/)f tflnd 
15 50000.00

2     e)*f/vs{ o'jf nlIft sfo{qmd  15 150000.00

hDdf /sd 200000.00

blIf0fsfnL gu/kflnsfsf] nlIft tkm{sf] cflbjf;L÷hghflt, h]i7 
gful/s, lk5l8Psf ju{, blnt tkm{sf] hDdf /sd 

3350000.00


